

LEFT MULTIPLIERS AND JORDAN IDEALS IN RINGS WITH INVOLUTION

LAHCEN OUKHTITE*

Département de Mathématiques
Faculté des Sciences et Techniques
BP. 509-Boutalamine
52000 Errachidia, Maroc

Abstract

The purpose of this paper is to study left multipliers satisfying certain identities on Jordan ideals of rings with involution. Some well known results characterizing commutativity of prime rings by left multipliers have also been extended to Jordan ideals.

AMS Subject Classification: 16W10, 16W25, 16U80.

Keywords: rings with involution, $*$ -prime rings, Jordan ideals, left multipliers.

1 Introduction

Throughout this paper, R will represent an associative ring with center $Z(R)$. Recall that R is 2-torsion free if $2x = 0$ yields $x = 0$. R is prime if $aRb = 0$ implies $a = 0$ or $b = 0$. If R admits an involution $*$, then R is $*$ -prime if $aRb = aRb^* = 0$ forces $a = 0$ or $b = 0$. Note that every prime ring having an involution $*$ is $*$ -prime, but the converse need not be true in general. For example, if R^o denotes the opposite ring of a prime ring R , then $R \times R^o$ equipped with the exchange involution $*_{ex}$, defined by $*_{ex}(x, y) = (y, x)$, is $*_{ex}$ -prime but not prime. This example shows that every prime ring can be injected in a $*$ -prime ring and from this point of view $*$ -prime rings constitute a more general class of prime rings.

In all that follows $Sa_*(R) = \{x \in R/x^* = \pm x\}$ will denote the set of symmetric and skew-symmetric elements of R . For $x, y \in R$, $[x, y] = xy - yx$ and $x \circ y = xy + yx$. An additive subgroup J of R is a Jordan ideal if $x \circ r \in J$ for all $x \in J$ and $r \in R$. Moreover, if $J^* = J$, then J is called a $*$ -Jordan ideal. An additive mapping $H : R \rightarrow R$ is a left (resp. right) multiplier if $H(xy) = H(x)y$ (resp. $H(xy) = xH(y)$) for all $x, y \in R$. Considerable work has been done on left (right) multipliers in prime and semiprime rings during the last couple of decades (see [4], [5] and [7] for a partial bibliography). An additive mapping $F : R \rightarrow R$ is a generalized derivation if there exists a derivation $d : R \rightarrow R$ such that $F(xy) = F(x)y + xd(y)$ for all $x, y \in R$. Clearly, generalized derivation with $d = 0$ covers the concept of left multipliers.

*E-mail address: oukhtitel@hotmail.com

There has been an ongoing interest concerning the relationship between the commutativity of a prime ring R and the behavior of a generalized derivation of R , with associated *nonzero* derivation. Moreover, many of obtained results extend other ones proven previously just for the action of the generalized derivation on the whole ring. So, it is natural to ask what can we say about the commutativity of R if the generalized derivation is replaced by a left multiplier. In the present paper, we have investigated this problem for certain situations involving left multipliers acting on Jordan ideals.

2 Left multipliers acting on Jordan ideals

We shall use without explicit mention the fact that if J is a Jordan ideal of a ring R , then $2[R, R]J \subseteq J$ and $2J[R, R] \subseteq J$ ([6], Lemma 1).

We recall the following lemmas which are essential for developing the proof of our results.

Lemma 2.1. ([2], Lemma 2) *Let R be a 2-torsion free $*$ -prime ring and J a nonzero $*$ -Jordan ideal of R . If $aJb = a^*Jb = 0$, then $a = 0$ or $b = 0$.*

Remark 2.2. If $aJ = 0$ or $Ja = 0$, then $a = 0$. Indeed, if $aJ = 0$ (resp. $Ja = 0$), then $aJa = 0 = aJa^*$ (resp. $aJa = 0 = a^*Ja$) and Lemma 2.1 yields $a = 0$.

Lemma 2.3. ([2], Lemma 3) *Let R be a 2-torsion free $*$ -prime ring and J a nonzero $*$ -Jordan ideal of R . If $[J, J] = 0$, then $J \subseteq Z(R)$.*

Theorem 2.4. *Let J be a nonzero $*$ -Jordan ideal of a 2-torsion free ring R and let F be a left multiplier such that $F([x, y]) = [x, y]$ for all $x, y \in J$. If R is $*$ -prime, then F is trivial or $J \subseteq Z(R)$.*

Proof. From $F([x, y]) = [x, y]$ it follows that

$$F([2[x, y]u, v]) = [2[x, y]u, v] \quad \text{for all } u, v, x, y \in J. \quad (2.1)$$

On the other hand, the fact that F is a left multiplier yields

$$F([2[x, y]u, v]) = 2[x, y]uv - 2F(v)[x, y]u \quad \text{for all } u, v, x, y \in J. \quad (2.2)$$

Comparing (2.1) and (2.2), as $\text{char}R \neq 2$, we get $(F(v) - v)[x, y]u = 0$ and thus

$$(F(v) - v)[x, y]J = 0 \quad \text{for all } v, x, y \in J. \quad (2.3)$$

Applying Remark 2.2, equation (2.3) assures that

$$(F(v) - v)[x, y] = 0 \quad \text{for all } v, x, y \in J. \quad (2.4)$$

Replacing y by $2y[r, s]$ in (2.4), where $r, s \in R$, and using (2.4) we find that $(F(v) - v)y[x, [r, s]] = 0$ and therefore

$$(F(v) - v)J[x, [r, s]] = 0 \quad \text{for all } v, x \in J, r, s \in R. \quad (2.5)$$

Since J is a $*$ -ideal, then (2.5) yields

$$(F(v) - v)J[x, [r, s]]^* = 0 \text{ for all } v, x \in J, r, s \in R. \quad (2.6)$$

In view of (2.5) and (2.6), Lemma 1 forces

$$F(v) - v = 0 \text{ for all } v \in J \text{ or } [x, [r, s]] = 0 \text{ for all } x \in J, r, s \in R.$$

Assume that

$$[x, [r, s]] = 0 \text{ for all } x \in J, r, s \in R. \quad (2.7)$$

Substituting sx for s in (2.7) and employing (2.7) we find that

$$[x, s][r, x] = 0 \text{ for all } x \in J, r, s \in R. \quad (2.8)$$

Replacing r by tr in (2.8), where $t \in R$, we get $[x, s]t[r, x] = 0$ and thus

$$[x, s]R[r, x] = 0 \text{ for all } x \in J, r, s \in R. \quad (2.9)$$

From (2.9) it follows that

$$[x, s]R[r, x]R[r, x]^* = 0 \text{ for all } r, s \in R. \quad (2.10)$$

Since $[r, x]R[r, x]^*$ is invariant under $*$, the $*$ -primeness of R together with (2.10) force $[x, s] = 0$ for all $s \in R$, in which case $x \in Z(R)$, or $[r, x]R[r, x]^* = 0$. Suppose

$$[r, x]R[r, x]^* = 0 \text{ for all } r \in R. \quad (2.11)$$

As $[r, x]R[r, x] = 0$ by (2.9), then (2.11) assures that $[r, x] = 0$ for all $r \in R$ and thus $x \in Z(R)$. Accordingly, $J \subseteq Z(R)$.

Now assume that

$$F(v) = v \text{ for all } v \in J. \quad (2.12)$$

Let $r \in R$ and $x, y \in J$, as $2r[x, y] \in J$, (2.12) yields $F(2r[x, y]) = 2r[x, y]$ and thus

$$(F(r) - r)[x, y] = 0 \text{ for all } x, y \in J, r \in R. \quad (2.13)$$

Replacing r by rs in (2.13), where $s \in R$, we get $(F(r) - r)s[x, y] = 0$ and therefore

$$(F(r) - r)R[x, y] = 0 \text{ for all } x, y \in J, r \in R. \quad (2.14)$$

Since $J^* = J$, then equation (2.14) leads to

$$(F(r) - r)R[x, y]^* = 0 \text{ for all } x, y \in J, r \in R. \quad (2.15)$$

Applying the $*$ -primeness of R , from (2.14) and (2.15) it follows that either $F(r) = r$ for all $r \in R$ or $[J, J] = 0$ in which case, because of Lemma 2.3, $J \subseteq Z(R)$. In conclusion, either F is trivial or $J \subseteq Z(R)$.

The following example proves necessity of $*$ -primeness condition in Theorem 2.4.

Example 2.5. Let $R = \left\{ \begin{pmatrix} x & 0 \\ y & x \end{pmatrix} \mid x, y \in S \right\}$ where S is a ring such that the square of each element in S is zero. Let us consider

$$F \begin{pmatrix} x & 0 \\ y & x \end{pmatrix} = \begin{pmatrix} x & 0 \\ y-x & x \end{pmatrix} \text{ and } \begin{pmatrix} x & 0 \\ y & x \end{pmatrix}^* = \begin{pmatrix} -x & 0 \\ -y & -x \end{pmatrix}.$$

From ([3], Example 2.1) it follows that R is a non $*$ -prime ring and F is a nontrivial left multiplier. Moreover, if we set $J = \left\{ \begin{pmatrix} 0 & 0 \\ y & 0 \end{pmatrix} \mid y \in S \right\}$, then J is a $*$ -Jordan ideal of R such that $F([x, y]) = [x, y]$ for all $x, y \in J$ but, in view of ([3], Example 2.1), $J \not\subseteq Z(R)$. Accordingly, in Theorem 2.4 the $*$ -primeness hypothesis is crucial.

Remark 2.6. In Theorem 2.4, if we replace the Jordan ideal by an ideal of R , then 2-torsion freeness hypothesis can be omitted.

Using the fact that a $*$ -prime ring having a nonzero central $*$ -ideal must be commutative, Theorem 2.4 together with Remark 2.6 yield a commutativity criterium as follows:

Corollary 2.7. *Let $(R, *)$ be a ring with involution and let F be a nontrivial left multiplier such that $F([x, y]) = [x, y]$ for all x, y in a nonzero $*$ -ideal I of R . If R is $*$ -prime, then R is commutative.*

In ([1], Theorem 2.1) it is proved that if a prime ring R admits a nonzero left multiplier H , with $H(x) \neq x$ for all x in a nonzero ideal I of R , such that $H([x, y]) = [x, y]$ for all $x, y \in I$, then R is commutative. However, one can easily see that the condition $H(x) \neq x$ for all $x \in I$ can be replaced by *there exists $x \in I$ such that $H(x) \neq x$* , that is H is nontrivial. Using this fact, the following Theorem extends ([1], Theorem 2.1) to Jordan ideals.

Theorem 2.8. *Let R be a 2-torsion free prime ring and let J be a nonzero Jordan ideal of R . If R admits a left multiplier F such that $F([x, y]) = [x, y]$ for all $x, y \in J$, then F is trivial or $J \subseteq Z(R)$.*

Proof. Let \mathcal{F} be the additive mapping defined on $\mathcal{R} = R \times R^0$ by $\mathcal{F}(x, y) = (F(x), y)$. Clearly, \mathcal{F} is a left multiplier of \mathcal{R} . Moreover, if we set $\mathcal{J} = J \times J$, then \mathcal{J} is a $*$ _{ex}-Jordan ideal of \mathcal{R} . As $F([x, y]) = [x, y]$ for all $x, y \in J$, it's easy to check that $\mathcal{F}([u, v]) = [u, v]$ for all $u, v \in \mathcal{J}$. Since \mathcal{R} is $*$ _{ex}-prime, in view of Theorem 2.4 we deduce that $\mathcal{J} \subseteq Z(\mathcal{R})$ or \mathcal{F} is trivial. Accordingly, either $J \subseteq Z(R)$ or F is trivial.

Now if F is a left multiplier such that $F \neq -Id$, then $-F$ is a nontrivial left multiplier. This fact together with Theorem 2.8 yield the following result:

Theorem 2.9. *Let R be a 2-torsion free prime ring and let J be a nonzero Jordan ideal of R . If R admits a left multiplier F such that $F([x, y]) = -[x, y]$ for all $x, y \in J$, then $J \subseteq Z(R)$ or $F(r) = -r$ for all $r \in R$.*

The following theorem extends Theorem 2.5 of [1] to Jordan ideals.

Theorem 2.10. *Let R be a 2-torsion free prime ring and let J be a nonzero Jordan ideal of R . If R admits a left multiplier F such that neither F nor $-F$ is trivial, then the following*

conditions are equivalent:

- (1) $F([x, y]) = [x, y]$ for all $x, y \in J$;
- (2) $F([x, y]) = -[x, y]$ for all $x, y \in J$;
- (3) for all $x, y \in J$, either $F([x, y]) = [x, y]$ or $F([x, y]) = -[x, y]$;
- (4) $J \subseteq Z(R)$.

Proof. Using Theorem 2.8 together with Theorem 2.9, it remains only to show that (3) \implies (4). Let us consider $J_1 = \{x \in J \mid F([x, y]) = [x, y] \text{ for all } y \in J\}$ and $J_2 = \{x \in J \mid F([x, y]) = -[x, y] \text{ for all } y \in J\}$. It is clear that J_1 and J_2 are additive subgroups of J such that $J = J_1 \cup J_2$. But a group cannot be a union of two of its proper subgroups and hence $J = J_1$ or $J = J_2$. Thus, we find that either $F([x, y]) = [x, y]$ for all $x, y \in J$ and $J \subseteq Z(R)$ by Theorem 2.8 or $F([x, y]) = -[x, y]$ for all $x, y \in J$ in which case $J \subseteq Z(R)$ by Theorem 2.9.

References

- [1] M. Ashraf and A. Shakir, On left multipliers and the commutativity of prime rings. *Demonstratio Math.* **41** (2008), no. 4, 764-771.
- [2] L. Oukhtite, On Jordan ideals and derivations in rings with involution. *Comment. Math. Univ. Carolin.* **51** (2010), no. 3, 389-395.
- [3] L. Oukhtite, Left multipliers and Lie ideals in prime rings. *J. Adv. Res. Pure Math.* **2** (2010), no. 3, 1-6.
- [4] J. Vukman, Centralizer on semiprime rings. *Comment. Math. Univ. Carolin.* **42** (2001), 237-245.
- [5] J. Vukman, An identity related to centralizer in semiprime rings. *Comment. Math. Univ. Carolin.* **40** (1999), 447-456.
- [6] S. M. A. Zaidi, M. Ashraf and S. Ali, On Jordan ideals and left (θ, θ) -derivations in prime rings. *Int. J. Math. Math. Sci.* **2004** (2004), no. 37-40, 1957-1964.
- [7] B. Zalar, On centralizer of semiprime rings. *Comment. Math. Univ. Carolin.* **32** (1991), 609-614.